RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approval of Higher Education Services Program FY 2006 Budget Modification /Amendment #1 - Account #10-1215)

RESOLUTION NO. 06-407

1	WHEREAS,	the Tohono O'odham Nation through the Higher Education Services Program has
2		been successfully providing counseling and financial assistance to eligible Tohono
3		O'odham to attend Post Secondary Institutes; and
4	WHEREAS,	the Higher Education Services Program FY 2006 Budget is at \$674,449.00, and the
5		Grants and Contracts Office has received an additional Bureau of Indian Affairs FY
6		2006 Allocation in the amount of \$664,338.00; and
7	WHEREAS,	the Higher Education Services Program, through the Grants and Contract Office, has
8		identified Carry-forward funds from the FY 2005 budget in the amount of \$134,654.76,
9		bringing the FY 2006 budget to \$809,725.96; and
10	WHEREAS,	the salary of the Education Assistance Specialist will be cost-shared with the Johnson
11		O'Malley Program (70% Higher Education Services & 30% Johnson O'Malley); and
12	WHEREAS,	the FY 2006 Higher Education Services Program Modification/Amendment #1 reflects
13		reducing line items 610 (Salaries), 620 (Fringe Benefits), 622 (Employee Security
14		Clearance), 660 (Travel Expense), 720 (Supplies – Office), 721 (Supplies – Other), 856
15		(Client Support), 860 (Special Activities), and 867 (Awards), to cover cost for continued
16		services; and
17	WHEREAS,	the FY 2006 Higher Education Services Program Modification/Amendment #1 also
18		increases line item 626 (Allowances and Stipends); and
19	WHEREAS,	the FY 2006 Higher Education Services Program Modification/Amendment #1 reflects
20		the change of the indirect cost from 17.79% to 17.98%.
21	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council supports the
22		Higher Education Services Program Budget Modification/Amendment #1 reflecting
23		the FY 2006 Final Allocation of \$664,338.00 and FY 2005 Carry-Forward funds in the
24		amount of \$134,654.76, bringing the FY 2006 budget to \$809,725.96.
25	BE IT FURT	HER RESOLVED that salary of the Education Assistance Specialist will be cost-shared
26		with the Johnson O'Malley Program (70% Higher Education Services & 30% Johnson
27		O'Malley).
28	BE IT FURT	HER RESOLVED that the FY 2006 Higher Education Services Program Modification/
29		Amendment #1 reflects reducing line items 610 (Salaries), 620 (Fringe Benefits), 622

	RESOLUTION NO. <u>06-407</u> (Approval of Higher Education Services Program FY 2006 Budget Modification/Amendment#1 - Account # 10-1215) Page 2 of 3
1	(Employee Security Clearance), 660 (Travel Expense), 720 (Supplies – Office), 721
2	(Supplies – Other), 856 (Client Support), 860 (Special Activities), and 867 (Awards), and
3	increases line item 626 (Allowances and Stipends).
4	BE IT FINALLY RESOLVED that the Tohono O'odham Nation Chairwoman or Vice-Chairman is
5	hereby authorized to negotiate and execute the budget provided that any amendment
6	affecting the funding or funding levels of the budget shall be submitted for approval
7	by the Tohono O'odham Legislative Council.
8 9 10 11	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>20^{TH.}</u> Day of <u>IUNE, 2006</u> at a meeting at which a quorum was present with a vote of <u>2,440.80</u> FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>[05]</u> ABSENT, pursuant to the powers vested in the Council by Section 1 <u>(d)(2)</u> & (3) and (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono
12	O'Odham Nation o n January 18, 1986; and approved by the Acting Deputy Assistant Secretary -
13 14	Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
15	State Jory.
16	TOHONO O'ODHAM LEGISLATIVE COUNCIL
17	
18	l
19 20	Evelyn B. Juan Manuell, Legislative Chairwoman
21	1
22	28 day of, 2006
23	
24	ATTEST:
25 26	Sum Sify
27	Lucille Lopez, Acting Legislative Secretary
28 29	
30 31	30 day of <u>Fine</u> , 2006.
32	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono
33	O'Odham Nation on the 28 day of, 2006 at 252 o'clock,M.,
34	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
35	upon her approval or upon her failure to either approve or disapprove it within 48 hours of
36	submittal.
37	
38	TOHONO O'ODHAM LEGISLATIVE COUNCIL
39	\bigcap
10 11	1 anelon h \
12	Evelyn B. Juan Manuel, Legislative Chairwoman
42	medyn D. Jaan Manacy, regisialive Chail wollidh

	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	Guelm 12
	Évelyn B. Juan Manuel, Legislative Chairwoman
M APPROVED	on the 30 day of Stal , 2006
] DISAPPROVED	on the <u>30</u> day of <u>fise</u> , 2006 at <u>4.36</u> o'clock, <u>A</u> .M.
· -	
	Vinian Janders
	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
	TOHONO O'ODHAM NATION
eturned to the Legislative S	Secretary on the 3^{ρ} day of
	Secretary on the 30 day of
	Secretary on the <u>30</u> day of at <u>9'. 37</u> o'clock, <u>A</u> .M.
./	
June , 2006, Suma Sepa	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepa	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepay	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepa	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepay	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepay	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006, Suma Sepay	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.
June , 2006,	at <u>9.37</u> o'clock, <u>A</u> .M.

ACTION: APPROVAL OF HIGHER EDUCATION SERVICES PROGRAM FY 2006 BUDGET MODIFICATION/AMENDMENT

#1 - ACCOUNT # 10-1215

MOVED: COUNCILMAN TIMOTHY JOAQUIN SECOND: COUNCILWOMAN PHYLLIS JUAN

DATE: JUNE 20, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	FRANCES MIGUEL (Vernon J. Smith)	155.40	X			
310.8	2. FRANCES G. ANTONE (Absent) (Lucilda J. Valenzuela (Norris)) (Present)	155.40	Х			
CHUKUT KUK	1. ETHEL GARCIA	129.35	х			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	Х			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	х			
221.6	(Jonas Robles) 2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	x			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	Х			X
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70	Х			
167.4	2. SANDRA ORTEGA	83.70	X			X
PISINEMO	1. BARBARA SALVICIO	85.90	Х			
171.8	2. GERALD FAYUANT	85.90	х			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	X			
169.0	2. GLORIA RAMIREZ	84.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	Х			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	X			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	Х			x
146.9	2. PHYLLIS JUAN	73.45	Х			
SELLS	1. MARLENE SARAFICIO-JUAN **	210.50	х			
421.0	2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	х			
SIF OIDAK	1. WAVALENE SAUNDERS (Isidro Lopez)	93.35	X			X
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Martinez)	93.35	X			
	TOTAL	2,440.80	2,440.80	-0-	-0-	[05]

^{**}PASSED VOTES